] szes =8 - o= =
AC@®1kHz DC DL P+0.5 ( mm )
BCTOOIRGCI0AFS 3.6 0.1 + 2004 40 &0 13.5x6.6 5
BCTOOIREH LOAFS 3.6 0.1 + 2005 40 &0 11.5x6.0 10
BCTOOIREVIOAFS X 0.1 = 200045 40 &0 11.5x12.5 5
BCTOOIRGCZ24FS 3.6 0.22 = 20 40 &0 13.5x656 3
BCTOOIRGHZ24F% 36 0.22 = 209 40 &0 11.5=60 10
BCTODIREV 224F5 36 0.22 = 205 40 &0 1L5x125 3
BCTOOZRGCIZAFAS 36 0.33 = 208 =0 75 135=556 3
BCTOOZRGHZZ4FAS 36 0.33 = 20%% S0 75 11.5=6.0 10
BCTOOZROVIZ4FAS 36 0.33 = 203 =0 75 11.5=12.5 -
BCTOOZRECS34FES 36 0.33 = 20%% S0 73 135=7.3 3
BCTOO3REH324FBS 36 0.33 = 209 50 75 11.5=6.0 10
BCTOOZREVIILFES 36 0.33 = 20%% 30 73 11.5x12.5 3
BCTOOIRGCATAFS 36 0.47 = 209 40 &0 13.5x7.3 3
BCTOO3IRGH4ATAFS 36 0.47 + 208 40 &0 11.5x6.0 10
BCTOOIRGVATAFS 3.6 0.47 + 20055 40 &0 11.5=x12.5 3
BCTOOSRSV224FBS S 0.22 + 205 75 112 11.5x12.5 1.5
BCTOOSRSVIALFS 5.5 0.33 + 20055 &0 a0 11.5x12.5 1.5
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ACE1kHz D< ohx=L P20.5 (mm )
BCTOOIRSCI0SFS 36 1 = 2095 15 22 205=7.6 5
BCTOOIRGH 105F5 36 1 = 20055 15 22 19x6.5 20
BCTOOIREVIOSES 3.6 1 + 2005 15 22 19=20.5 3
BCTOOIRBCISSFS 3.6 1.5 + 2005 10 15 2053x7.6 3
BCTOOIREH155F% 3.6 1.5 + 2005 10 15 19x4.5 20
BCTOOIREVISSFS 3.6 1.5 + 2095 10 15 19x20.5 3
BCTOOSRSVHIAFS 5.5 0.68 + 20005 30 45 19x 20,5 L
BCTOOSRSCHI4FS 25 0.68 + 2% 45 67 20.5x10 3
BCTOOSRSCLO5FS 5.5 1 = 205% 20 30 20.5x10 5
BCTOOSRSV105FS 2.5 1 = 20% 25 37 19x20.5 8
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